I\/Irunoff +MDr+MDd

PEC, =
ert 3x86400xT,
PECTierl g/m3
Mrunoff g
MDr g
Moba g
Te day
_ p
runoff — I XTX Ap X fp

|\/IDr - I ><DLVSrXZriver X Ndrift
D..
Mps =1 % 18t6h X Z gien X N grif

114

(1)

(2)

(3)

(4)



I

R»
Ap
Driver
Z river
Dditch
Z ditch
N drift
fo

%
ha
%

ha/day

%

day

F1. KAFEHBRERICBITAERT A—2DE (F 1 BtpE)

INT A—F (BAfL) H_E B bR R 22 B B
4, (ha) 50 50
T, =2 days 15.6 19.0
R, (%)  T,=3 days 22.4 27.1
T, =4 days 29.1 34.4
D,iver (%) 0.3 1.9
Z,.ver (ha/day) 0.16 0.8
Daien (%) 4 100
Ziren (ha/day) 0.07 0.33
T, =2 days 1 1
Novise T, =3 days 2 1
T, =4 days 2 1
1 (FE 7K ) 0.3 (ZEHEWAN)
f,(-) 0.5 (FEIEHAN) 1 (EFEES)
0.2 (Fg403#)
= X
= X
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M runoff M D
PECrierl = I:)ECTierl = r
11x86400xT, 3x 86400 xT, 5)
PECTierl g/m3
Mirunote g
MDr g
R
M =Ix—LxA xf
runoff 100 Au u (6)
D.
M, =Ix—™xZ xN, .
Dr 100 river drift (7)
I g/ha
Driver %
Lriver ha/day
Narite day
Ru %
Au ha
fu
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u

u

rive

riv ehra/ day

dri 9%y e

T
o X
PECT _ M seepage+MDr+MDd_Mse
ez 3x86400xT, (8)

PECTierZ g/m3
Mout g
Mseepage g
MDr
Mo g
MSE g
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out )T

Mseepage = T .1

i=0

Mpy, =1 x

M, =M, +M

Qout
Qseepage
Ci

K levee
Vi
Vse

Pse
OCse

out seepage

ezci ><Qseepage X Ap X fpj/Klevee

Driver
100

X N it

river

D gich
100

X L gien X N grin

KOC X OCSE /100 Xpse XVSG

(11)

(12)

+MDr+MDd)><

m°/ha/day
m’/ha/day

g/m
(-)
(m’)

g/lem®
%
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Klevee = plevee X Koc X OCIevee/:I'OO +1

WS (14)
Dievee glem’
lws
Ko cm’/g
OCievee %
m... m -
Z out,i n Z seepage ,i M o M - M .
P ECFierZ = 3 3
3% 86400xT,
(15)
Z mout,i + Z mseepage,i .
PEC, ,= O 5 -
Crie 3x86400xT,
mout,i | g
Mseepage,i i g
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My =Ci xQuu x Ay x T

out

mseepage,i = (CI X Qseepage>< Ap X fp )/Klevee

Mor Moy M (11) (2 ()
PEC Mout+Mseepage+MDr+MDd _Mse
Terz 3x86400xT,
PECr Ivlout + Mseepage_ Mse
®Z 3x86400xT,

Mout Mseepags

I\/Iout = ch ><Qout X Ap X fp
M seepage = (ch X Qseepage X Ap X fp )/Klevee

Mor  Mpos  Ms (11) 2 )

I:)ECTierZ —deg = I:)ECTierZ X e—0-17><k

7/14

(16)

(17)

(18)

(19)

(20)

(21)



PECTierZ-deg g/m3

k 1/day
~ In2 N In 2
DT50, DT50, (22
DT50n day
DT50p day
DT50, k

£3. KEHERABREIZEBITLHEAATA—ZOME (5§ 2 BEE)

INT A= (HAAL) e 0w 71 55 it 22 Bh B
4, (ha) 50 50
Q... (m*/ha/day) 30 30
Oseepage (I0°/ha/day) 20 20
D,.... (%) 0.3 1.9
Z,ver (ha/day) 0.16 0.8
D,.., (%) 4 100
Z ;.. (ha/day) 0.07 0.33
N, (day) PECwWEBREBRDLBEDODHEEZRE
V., (mz) 1(m®/s) X 86400 X T,(day) 1(m’/s) X 86400 X T,(day)
7., (m) 2000 2000
p,. (g/cm?) 1.0 1.0
oc,, (%) 1.2 1.2
Pioves (g/cm?) 1.0 1.0
Foe (- 2.4 2.4
0C1ores (%) 2.9 2.9

1 (HEZKHOA ) 0.3 (EZEHUM)
Jo ) 0.5 (FEIEHA) 1 (EFELASH)

0.2 (55 ML)
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m seepage 0
M m m m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7 m seepage 8 m seepage 9 m seepage 10
Dro seepage 1 seepage 2
M FMoue3 Moyt 4 FMouts FMous FMouer FMous FMoutg FMout 10
Dd 0
m seepage 0
M m m m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7 m seepage 8 m seepage 9
Dro seepage 1 seepage 2
+Mow3 +Mout4 +tMouws +Moute Moy 7 +Mouts +Moutg
Mpgo
m seepage 0
M m m m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7 m seepage 8
ore TP s FMous FM oyt 4 FMouts FMous FMoue7 FMourg
+Mbdo
m seepage 0
+M m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7
Dro m seepage 1 m seepage 2 H ay H + +
Mout 3 M out 4 Mouts Moute Moyt 7
+Mpdo
m seepage 0
M m seepage 3 m seepage 4 m seepage 5 m seepage 6
+Mpro m seepage 1 m seepage 2
M +Mout3 Moyt 4 +Mouts +Mout6
Dd 0
m seepage 0
M m m m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7 m seepage 8 m seepage 9 m seepage 10
Dro seepage 1 seepage 2
M FMoue3 Moyt 4 FMouts FMous FMouer FMous FMoutg FMout 10
Dd 0
m seepage 0
M m m m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7 m seepage 8 m seepage 9
Dro seepage 1 seepage 2
+Mow3 +tMout4 +tMouws +Moute Moyt 7 +Mouts +Moutg
+Mbdo
m seepage 0
M m m m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7 m seepage 8
M ore TP s FMous Moyt 4 FMouts FMous FMoue7 FMourg
*Mobdo
m seepage 0
M m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7
+Mopro m seepage 1 m seepage 2 H ay H ay +
Mout 3 Moyt 4 Mouts Moute Moyt 7
+Mpdo
m seepage 0
M m seepage 3 m seepage 4 m seepage 5 m seepage 6
+Mpro m seepage 1 m seepage 2
+Mout3 Moyt 4 +Mouts +Mout6
+M pd o
m seepage 0
M m m m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7 m seepage 8 m seepage 9 m seepage 10
Dro seepage 1 seepage 2
M +Moyt3 +M oyt 4 +Mouts +tMouws +Mout7 +tMouws +Moutg +M oyt 10
Mpdo
m seepage 0
M m m m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7 m seepage 8 m seepage 9
Dro seepage 1 seepage 2
FMous FMouts FMous FMoute Moy 7 FMoutg FMoutg
+Mbdo
M seepage 0
M m m M seepage 3 M seepage 4 M seepage 5 M seepage 6 M seepage 7 M seepage 8
M ore TP s FMous FM oyt 4 FMouts FMous FMoue7 FMourg
*Mobdo
m seepage 0
M m seepage 3 m seepage 4 m seepage 5 m seepage 6 m seepage 7
+Mpro m seepage 1 m seepage 2
+Mow3 +Mouts +tMouws +Mout6 Moyt 7
+Mpgo
m seepage 0
M m seepage 3 m seepage 4 m seepage 5 m seepage 6
Dr0 m seepage 1 m seepage 2 ay H ay ay
Mout3 M out 4 Mouts Moute
+Mpdo

10/14




Z mout,i + Z mseepage,i +M pr T M Dd M se
386400,

P ECTierZ =

Zmout,i :(C3 +C3 +C4)+5XQout ><Ap X 1:p

steepage,i = (CO +C1 +C2 +C3 +CO +C1 +C2 +C3 +C4)+5XQseepage x Ap x fp/KIevee
Driver

IVIDr = I X 100 ><Zriver><2
Dditch

Mpg =1 x 100 Z giteh %

zmout,i + zmseepage,i -M se

PEC,., =
i 3x86400xT,
D> My =(C3+C,+Cy+Co+C, +C, +Cs +Cy +C, +Cg)+5xQp x A x
D Mepagei =(C;+C, +Co+Cy+C, +C, +Cy +Co +C, +Cy )+ 5x Quuae X Ay x T /K e
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100 km?

500 ha 750 ha
2.0 km?
100 km?
50% 3.0 m’s 75% 1.9 m¥s 50 m’s
3am®/s
11 m¥s
10km, 120m
4 / 50km, 16m)

(1km x 5.0km)

(1km x  7.5km)

10km

10% 5 %
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(ha (ha
k m
. 0kmx0. 1=
500 5.Dp 110 50
. 0kmx0. 1=+
.5kmx0. 05+ 5
750 7. b G 37.5
.5kmx0. 05+ 1]
10% 0.5cm
0.3cm 0.2cm
=0.17
5cm
5cm 10 %
16 m
5m 16 m 2 13 m 10

16 m 2 18 m
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1/150 1m
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